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Make change.  You can use $20, $10, $5, $1, 25¢, 10¢, 5¢,  or 1¢.

Bill has $60.11.  He has 6 bills and 11 coins.  How?

$10

1¢

Pam has $91.11.  She has 8 bills and 12 coins.  How?

Bill has $97.50.  He has 9 bills and 5 coins.  How?

word root fric can mean rub friction, frictional
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Pay the bill!

Jason needs money.  He 
wants to get $200 in cash, 
so he writes a check 
payable to cash in this 
amount.  Write this check.

1794JASON

DATE

PAY TO THE
ORDER OF

DOLLARS

$

A994913574A C54177C 1794

MEMO

Pay the bill!

Jason received a bill for 
his cellphone from Mobile 
Unlimited for $57.23.  Write 
the check as Jason would 
write it.

1795JASON

DATE

PAY TO THE
ORDER OF

DOLLARS

$

A994913574A C54177C 1795

MEMO

How much money is 1 
quarter, 7 dimes, 1 nickel, 
and 1 penny?

A rectangle is 45 cm on 
one side and 14 cm on 
another side.  What is the 
perimeter?

A toy car can go 3 mph.  
How long would it take to 
go 4 miles?

Write 6
12

 in lowest terms. A,  ,   G,  J,  M,  P,  

S,  V,  Y

What is the area of a 
rectangle with sides 4 cm 
and 8 cm?
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The polar explorers hiked 3
4

 of a mile 

across the frozen wilderness during the first 

hour. They saw three polar bears from a 

distance. During the second hour of their 

hike, they saw six polar bears, but only 

hiked 2
5

 mile. How many miles did they 

hike in the two hours?

Nathan loves to roller skate. He goes 
every weekend and skates as much 
as he can. Since he skated so much, 
he decided to buy his own skates. He 
looked at several stores and found a 
pair he liked for $73.46. He has 
$202.25 in his savings account. If he 
takes out the money to buy the shoes,
how much money will be left in his 
savings account?

40 ÷ 5 - 5 1 + 5 x 2 2 + 6 x 12

Eric had 6 cups of milk. 
He used all of the milk 
to make 4 chocolate 
milkshakes. How many 
milkshakes could he 
make with 12 cups of 
milk?

A maple tree grows 
about 11 inches per 
year. If the maple tree 
in Alex's yard is 28 
inches tall now, how tall 
will it be in 2 years?

Vera Sergeevna was 
23 years old on the 
Day of Consent and 
Reconciliation in 1971. 
Her brother, Alexander,
was 5 years less than 
twice her age. How old 
will Alexander be on 
the Day of Consent 
and Reconciliation in 
2022?

1 km = 1,000 m

29 km = m

Insert a comma in the appropriate 
place in this sentence.
Indeed that was a very difficult 
vocabulary test!

6 x 3 = 

https://www.mathworksheets.com


Name:
Week of August 22
MathWorksheets.com

50 - 7 = 75 - 5 = 21 - 8 =

27 - 4 = 93 - 2 = 46 - 8 =

49 - 7 = 19 - 6 = 49 - 5 =

60 - 3 = 81 - 8 = 10 - 9 =

90 3 6 0 7 2 1 0 9 2 9 7 32 2 5 6

69 2 0 7 7 2 8 0 6 5 5 8 3 1 2 9

x

6

3 2

x

24

4

x

14

7

x

15

5

91
9-

56
4-

81
5-

44
2-

22
9-

16
6-
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72
+

46

90
+

72

85
+

22

90
+

45

98
+

41

+

67
+ +

17 11

57
+

45
+

12
+

28 17 5

+

29
+

46
+

13 13

59
+

42
+

17
+

+

19
+ +

7
+

13 10 7 5 2

77
+

17
+

60
+

9
+ +

15
+

45
+

6 3 2 8 7 5

What is the greatest 
common factor of 4 and 16?

36 - n = 30 m + 27 = 39

word root ad can mean to or near admission, admit
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

Round 17,309 to the nearest 
thousand.

How many minutes is it 
from 8:00 a.m. to 10:40 a.m.?

It was 83 degrees outside.  
What would the 
temperature be if it got 16 
degrees colder?

How many centimeters in 
920.8 meters?

38 + n = 49 Round 67,537 to the 
nearest hundred.

Draw a number line 

with 0, 1
2

, and 1.  Show 

where 9
12

 would go.  Is 

9
12

 closer to 0, 1
2

, or 1?

68,  86,  ,   122,  140, 

 158,  176,  194,  212

121 divided by 11 equals

The diameter of a circle is 
514 cm.  What is the radius 
of this circle?

How many meters are 
there in 115 kilometers?

What is 50% of 1,048?
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70 ÷ 14 = 208 ÷ 52 =

95 ÷ 19 = 511 ÷ 7 =

426 ÷ 6 = 195 ÷ 65 =

488 ÷ 8 = 216 ÷ 8 =

6 ÷ = 3 8 ÷ = 4

÷ 12 = 11 ÷ 2 = 12

121 ÷ = 11 ÷ 9 = 6

÷ 9 = 4 90 ÷ = 10

8 3 3 6 26 2 3 4 39 7 8 8 5 7 6

x

28

7

x

6

3

x

16

4

x

21

3
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92
+

31

+

52 29

+

28 46

86
+

22

79
+

23

Q,  G,  O,  ,   M,  E, 

 K,  D,  I,  C

How many centimeters in 
3.4 meters?

It was 6 degrees below 
zero in the morning.  By 
afternoon the temperature 
rose 17 degrees.  How 
warm was it?

Know how many inches in 
a foot?  Okay, smarty pants,
how many inches in 8 feet?

5 2
5

 + 2 4
5

What 5 coins add up to 77 
cents?

70,  84,  98,  112,  126,  140, 

 154,  ,   182,  196

2,   10,   14,   70,   74,   

370,  ,    ,   ,   

Round the decimal 0.755 to 
the nearest hundredth.

Circle the three numbers 
whose product
equals 2,160.

    9       10       12

    24       17       24

    24       23       15

 (25) ,  ,    (1) ,  1
5

,

  1
25

,  1
125

,  1
625

,  1
3125

It's 11:00 a.m. and Amy is 
getting ready for soccer 
practice.  If practice starts 
at 5:30 p.m., then how 
much longer until soccer 
starts?
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Sample:
2.09
is the sum

4

hundredths

2

tenths

1

one

85

hundredths

9.56
is the sum

7

tenths

66

hundredths

8

ones

4.4
is the sum

3

ones

4

hundredths

66

hundredths

Example:
0.04 + 0.2 + 1 + 0.85 = 2.09

Example:
0.7 + 3 + 0.04 + 0.66 = 4.4

Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: 2 ones, 1 one, 6 ones, 8 ones,  

or 3 ones.

The other three numbers have to all be DIFFERENT and must be from these: 2 tenths, 7 tenths, 4 

hundredths, 85 hundredths,  or 66 hundredths.

4.554

hundredths

85

hundredths

66

hundredths

3

ones

7.59

6

ones

4

hundredths

ones

2

tenths

hundredths

9.55 85

hundredths

hundredths

4.75
tenths tenths

85

hundredths

6.94 7

tenths

8

ones tenths

85

hundredths
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It was Harry Potter's 
birthday. He was 14 
years old. It was so 
much fun having a 
party at Hogwart's with 
his friends! If he had 
come to Hogwart's 
when he was 13 years 
and two months old, 
how long had he been 
there?

To celebrate Read a 
Book Month the 
Mountain Springs town 
library is giving a 
bookmark to everyone 
who reads at least five 
books during December.
The bookmarks cost five 
cents each. The library 
decided to buy 300 
bookmarks. How much 
did the bookmarks cost 
in all?

Jacob and Eric are 
playing the game "Mr. 
McGregor's Farm." They 
are using a spinner with 
4 red sections, 1 yellow 
section, 1 green section, 
and 3 blue sections. 
What is the chance 
Jacob will spin blue on 
his first turn?

How many inches are in 8 feet?

 inches

Draw a shape that has between 
three and six lines.  The shape 
should have at least one line of 
symmetry.  Show the line of 
symmetry using a dotted line.Jenna is quietly counting 

the money from her 
pocket. She has 5 
quarters and 3 nickels. 
Erin has the same amount 
of money in dimes and 
nickels. She has 22 coins. 
How many dimes and 
nickels does Erin have?

27 kg = g
Write a letter that has two or 
more lines of symmetry. 54 ÷ 9 = 
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Can 253 be evenly divided by 11? Circle:
253 is evenly divisible by 11
253 is NOT evenly divisible by 11

3 3 0
+ 4 0 0

2 9 4
- 1 4 9

Can 631 be evenly divided by 3? Circle:
631 is evenly divisible by 3
631 is NOT evenly divisible by 3

4 9
+ 3 4

Rosa is making up her own calendar.  The first month of her 
weird calendar is called Zaffy.  To make matters worse, she is 
giving Zaffy a total of forty-nine days.  What is the least 
number of Wednesdays that can occur during Zaffy?  Show 
the month of Zaffy.

6 2
- 4 7

9 x 5 = 
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Amanda wants Anne to guess a three 
digit number.  She tells Anne that her 
number has three different digits.  The 
digits are 6, 1,  and 7.  Anne thinks.  She 
then guesses the number 176.  What are 
the chances that Anne has guessed 
correctly?

What time is 16 hours after 
2:00 p.m.?

Circle the digit in the tenths place.

5,128.4695

Write this as a number in standard form.  
Use a comma in your number.

seven hundred sixty-five thousand,  five 
hundred fifty-one

Rose is getting messy.  She has made a 2' 
x 2' x 4' cube made out of clay blocks.  
She wants her art project to have at 
least a surface area of 24 square feet.  
Does she need to add more clay?

Write 3,664,045 in words.

Which is the largest?

66.6 ÷ 7.2 66.6 ÷ 7.1 66.6 ÷ 7.3

In the number 22,485,554,479, the digit 7 is 
in what place?

Circle the smallest number:
4,207

683,591
974,356,082
2,096,345

Circle the word that is a synonym for the 
word wisdom.

knowledge, ignorance, inability, 
ineptness

Circle the relative adverb.
My favorite month is February, 
when my birthday is.
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8 = 9 8 - + 7 4 0 7 = 1 1 1 5 6 3
0 = 9

Use the pieces above to help you fill in the runaway math puzzle.

Jacob invented a robotic bug.  The bug 
can crawl five centimeters in twenty-four 
seconds.  How long would it take the bug 
to crawl thirty-five centimeters?

(4 + 7) + 5 = 

4 x 7 = 

Circle the addition property 
for 57 + 136 = 136 + 57.

associative property
commutative property

Circle the word that best completes the 
sentence.
Would you (read/reed) out loud 
to me?

77 ÷ 7 = 

1 + + 7 1 6

x

4

x 8 = 7 2 6

+ 3

0 3 2 6

÷ + 7 = 1 x 9 = 0

+ 0

= 2 ÷ 4 = 3 +

3 0 ÷ = + 0

5

+ 2 4 - 2

3 8

7 2 ÷ 8 =

6
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Jacob, Devin, Benjamin, Daniel, Jose, and Eric each scored a different number of points (7, 3,
11, 27, 10, and 9) during a game of basketball.

Figure out how many points each person scored.

1. Devin scored fewer points than Eric.

2. Jose scored fewer points than Eric.

3. Daniel scored fewer points than Devin and fewer points than Jose.

4. Devin scored more points than Jacob and fewer points than Jose.

5. Benjamin scored fewer points than Jose and fewer points than Jacob.

6. Jacob scored three times as many points as Benjamin.

7. Daniel scored fewer points than Eric.

8. Daniel scored fewer points than Jacob.

Jacob scored  points.

Devin scored  points.

Benjamin scored  points.

Daniel scored  points.

Jose scored  points.

Eric scored  points.

Write the missing family fact.

114 ÷ 6 = 19
114 ÷ 19 = 6
19 x 6 = 114

96 ÷ 12 = 

Circle the conjunction in the sentence. Explain its function in the sentence.
I started the year in one grade, but then I was advanced to the next 
grade after my test scores were reviewed.
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Jessica has 55 cents.  What fraction of a dollar is that?  Be sure to simplify the fraction.

Hunter and Rose are doing their math homework.  Their teacher gave them each 19 pages 

of math facts to practice.  Each page has 6 rows and 8 columns of problems.  Hunter can 

do a row of problems in about 5.5 seconds.  Rose is faster.  She can do a row of problems 

in 4.9 seconds.

How much more time will Hunter need to finish his math homework?

The Zippy Zoo is special.

"Why?" asks Sally.

"Just look!" yells her brother.

It is obviously special because all they have are zebras.  A total of 72 of them!  The cool 

part is that 3 out of every 9 zebras at Zippy Zoo are not real zebras.  They are robots.

"Wow," says Sally.  "How many robot zebras are there?"
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2 x = 6 x 5 =25 x 2 = 6

7 x = 42 3 x = 15 x 9 =45

x 8 =64 2 x = 10 x 9 = 27

9 x = 81 9 x = 27 x 4 = 24

4 x 6 = 4 x 10 = 12 x 3 =

10 x 10 = 7 x 2 = 10 x 5 =

10 x 9 = 7 x 9 = 6 x 4 =

2 x 11 = 10 x 2 = 9 x 5 =

x

2 9

x

5 4

x

8 5

x

2 8

x

2 4

x

7 2

x

3 5

x

6 8
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299
x

13

69
+

21

+

48 20
x

13 11
x

16 29

11 x 11 x (6 - 3) Round 14,707 to the nearest 
thousand.

How many centimeters in 
770.9 meters?

Circle the three numbers 
whose product
equals 330.

    11       10       12

    6       6       5

It was 6 degrees above 
zero in the morning.  By 
afternoon the temperature 
rose 22 degrees.  How 
warm was it?

How much time is it from 
7:00 a.m. to 10:25 a.m.?

Yummy Donuts gave two 
dozen chocolate donuts 
and four dozen jelly donuts 
to the school.  How many 
donuts did they give?

63 divided by 9 equals
6 2

9
 + 5 7

9

Estimate quickly the 
difference.
7,940 - 2,100

Round 72,266 to the 
nearest hundred.

What 3 coins add up to 16 
cents?

https://www.mathworksheets.com


Name:
Week of August 22
MathWorksheets.com

END 8 + 9 - 4

10 + 5 - 4

9 x (10 - 10) + 8

3 x 11 ÷ 1

END

3 x 15 ÷ 5

(12 x 9) + 8

8 + 6 x 7

9 + 12 x 9

1 + (8 - 4) x 8

END
(11 + 11) + 10 - 8

(8 x 4) - 5 - 109 - 5 + 2

5 x 2 - 5

3 + 10 x 5 12 + 9 + 5 + 4

END

36 ÷ 3 - 4

(5 + 12) - 10

6 x 10 - 3 + 9

5 + 6 x 7

7 + 12 ÷ 4

4 + (4 x 10) - 11

63 ÷ 9 x 12

START

10

Draw a line from START to END.
8 10 30
33

Cross out the number you use above and then write it below.
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Sample:
30 4

5
is the sum

9 3
5 7 1

5

12

2

34 3
5

is the sum

9 3
5

12

5 4
5

33 11
15

is the sum

12

5 4
5

6 1
3

9 3
5

 + 7 1
5

 + 12 + 2 9 3
5

 + 12 + 5 4
5

 + 6 1
3

Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: 7 1
5

, 4 1
2

,  or 6 1
3

.

The other three numbers have to all be DIFFERENT and must be from these: 9 3
5

, 5 4
5

, 2, or 12.

31 9
10

9 3
5 5 4

5

12

4 1
2

23 11
15

6 1
3

5 4
5

9 3
5

26 2
15

6 1
3

24 3
10 21 9

10 33 11
15

9 3
5 29 14

15

26 2
15

5 4
5

21 9
10

5 4
5 2
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Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: 1
2

, 3 1
4

,  or 1 3
8

.

The other three numbers have to all be DIFFERENT and must be from these: 3, 8 1
2

, 5, or 2 1
2

.

171
2 3

5

8 1
2

17 7
8

5

17 3
8

5

8 1
2

17 7
8

3

1 3
8

16 1
2 17 13 3

4 17 3
8

15 3
8 17 19 3

4 15 3
8

1 3
8

14 1
2 19 1

4 19 1
4

19 1
4 19 3

4
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Ready to make equations?  There is a missing equation in each box.
Circle the numbers once you find it!

A
+

Find an
addition fact.

56 88 71

87 50 12

41 92 86

35 45 22

B
+

Find an
addition fact.

83 27 75

34 16 51

77 17 14

73 55 62

C
+

Find an
addition fact.

26 79 52

43 19 76

56 74 68

87 32 96

Equations:
Write the equation facts you found.

A + 41 =

B + =

C + =

Can 965 be evenly divided by 8? Circle:
965 is evenly divisible by 8
965 is NOT evenly divisible by 8 95

5 1x
66
78x

Add the correct end punctuation for 
this sentence.
I am in the fourth grade
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Pay the bill!

Rent is due.  Jacob needs 
to pay his landlord $2,800.
His landlord's name is
Ava Hall.

1743JACOB

DATE

PAY TO THE
ORDER OF

DOLLARS

$

A991380371A C60999C 1743

MEMO

Pay the bill!

Jacob received a bill from 
Central Water for $58.59.  
Write the check as Jacob 
would write it.

1744JACOB

DATE

PAY TO THE
ORDER OF

DOLLARS

$

A991380371A C60999C 1744

MEMO

Peter earns $19 an hour.  
He worked 5 hours.  How 
much did he make?

18 +  + 24 = 55
Is admission a composite 
or a prime number?

13,  15,  17,  19,  ,   23, 

 25

Write the greatest possible 
4-digit number using only 2 
different numbers.

What is 16 less than 499?
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Pay the bill!

Peter needs money.  He 
wants to get $160 in cash, 
so he writes a check 
payable to cash in this 
amount.  Write this check.

1311PETER

DATE

PAY TO THE
ORDER OF

DOLLARS

$

A997804932A C53938C 1311

MEMO

Pay the bill!

Peter received a bill for his 
cellphone from Mobile 
Unlimited for $60.96.  Write 
the check as Peter would 
write it.

1312PETER

DATE

PAY TO THE
ORDER OF

DOLLARS

$

A997804932A C53938C 1312

MEMO

Write the ratio as a fraction.
3 dogs to 8 cats

Change to a fraction.
2% Change to a percent.

2
100

What number is halfway 
between 24 and 30?

How many tens are in the 
number 45,000?

Name the shape with 
seven sides and seven 
angles.
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Can you guess the word?
No duplicate letters can be used.

F O R T Y
The letter F is in the word
and is in the correct spot.

V A L U E
The letter A is in the word, 
but A is not in that spot.

A B C D E F G H I J K L

A list of letters will be given that
have not been used. Good luck!

G J N N A T M NO A A M E A N I OO M

N K P A MO N GA AO N GM T X A AQ

O GMA M I C D F O N M P GGA H J F

N M B R M F T QO T F A MO N GO I N

A N A GO N Y GG T NO I O T K Y H V

F O B A N Y A F A I N T J O Z M I GO

Hint: There are no duplicate letters in the answer.

F A I N T
G R A N D
A G O N Y

B C E H J K L M P Q S U V W X Z

Let's check if you guessed correctly. Look across or 
down to find the correct answer.

R C M B R F X A B R A E C E A

J R T U T T R C C E B U V P I

E M C R U W A A T U A U A R A

U Q A T L H M B M A T U U U A

R T R E B A A O L E B E E K C

T A T A S E V R C E L B B B B

Hint: There are no duplicate letters in the answer.

F R A M E
A C U T E
B A T H E

D G I J K L N O P Q S V W X Y Z

Let's check if you guessed correctly. Look diagonally 
to find the correct answer. (DIAGONAL!)

S O AWWN S S I J WN E A A AWWW

H NOW E F WAO A I O AO I MV T M

C S OO A G I I S A A T S A E R W T I

N B I R S I N G B I A R A B I B R B Y

S A E S E A S CO A AWC Z W R I W S

V K M T R S A T J W S Y W R Z NW T S

B Y I H B A A NQ A Z I S B S C L A S

C I X E WJ W S B B W T C M I I A S I

Hint: There are no duplicate letters in the answer.

S N O R E
B A S I C

D F G H J K L M P Q T U V W X Y

Z

Let's check if you guessed correctly. Look diagonally 
to find the correct answer. (DIAGONAL!)
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What's in the Box?
Read the words on the left then match the letters with the correct synonyms in the clues.
Put the clues together and solve the mystery of what is in the box.

A =plate

C =boldness

D =late

E =selfish

H =cut

I =cover

K =hope

N =paste

P =flame

R =permit

S =drive

T =surpass

U =dirty

W =capable

X =secure

Clue 1: steer

s
clip

h
dish tardy greedy steer

Clue 2: fire lid nerve exceed soiled allow greedy

Clue 3: able dish lock

Clue 4: steer exceed lid nerve wish

Clue 5: exceed lid glue exceed greedy tardy

What's in the Box?

Write an equation to represent this:

The sum of twelve and five is seventeen.

Circle the greatest number:
42,560,789 3,905,798,316
138,129,570 36,448,756,201

April was given five numbers:  11,  15,  10, 
9,  and  13.  She needs to use two of 
these numbers to make a fraction.  
Can she make a fraction that is less 
than four-fifths?

Can 810 be evenly divided by 5? Circle:
810 is evenly divisible by 5
810 is NOT evenly divisible by 5

word root inter can mean between or among interceptor, intermission, intersect
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